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1. 13875 6cm DK ABCD-EFGH 2 RKID X 512H 5. A BC, CD Oz Zh 2N P,Q & LT, 35 G,P,Q % 5F
[T Z DM TEREINT LT, MERARKE WS ONMARE S 5. ROMIZEZ X.
(SH158, A2 308, B4, C#H%67)
(1) RS ORFEERD k.
(2) kS oRMEEERD X.
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2. 135 4cm ONLGK ABCD-EFGH A FXID k5125 %. 34 AB,BC,CD,DA oW % F#hZH P,QR,S 3 5%. 4 DD
PES , QFP , RGQ , SGR TZ D AERZYIM LT, IMEELPKEZWVIMAEZ S T 5. XROMICEZ K.
(SHk17345%, A3, B#55, C#e75)

(1) 3ZKS DIFfEZERD &X.
(2) kS DXMEFEERD K.
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REIFR L MAER BEEAEAHOSETL 02 RS

1. 13875 6cm DK ABCD-EFGH 2 RKID X 512H 5. A BC, CD Oz Zh 2N P,Q & LT, 35 G,P,Q % 5F
[T Z DM TEREINT LT, MERARKE WS ONMARE S 5. ROMIZEZ X.
(SH158, A2 308, B4, C#H%67)
(1) RS ORFEERD k.
(2) kS oRMEEERD X.
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(1)
fRFK 1 D X 51, VAR SIE D S =AFT WV G-CQP D2 Wb D.

VRS = MAKABCD-EFGH — ZA3W\G-CQP
= 6x6x6 — 3><3><%><6><% = 207 cm?

(2)
UIMTH O, ROHGFRZH > TV B REND 5.
*x1:1:2 DEA=ATLVOERRIIESH .
COMETE, BEAZATWVWGCQP D, 3 20EMAZBOTHEL CHLSDBUDEEXD 3ecm , 3cm , 6cm TH 3.
3:3:6=1:1:2T»H, Z0=ATVOREMXIZ, FEHX2DXSICIESBICKRS.

Ui GQP ok = [EASE - Ef =M 3D
_ _ 1 1 _ 2
— 6x6 (3><3><2—|—3><6><2><2) — 135cm
MRS OXRMEE = EAE3ID + B 2D + HATE + YT GQP
_ 1 1
= 6x6x3 + (3+0)x6x2x2 + (6x6-3x3x1) + 13.5
- 18+ 54 + 31.5 + 13.5
= 207 cm?
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2.

135 4cm OISR ABCD-EFGH A FXD X 5125 %. 34 AB,BC,CD,DA O E%2 FZhZH P,QR,S 3 5%. 4 DD

PES , QFP , RGQ , SGR TZ D AERZYIM LT, IMEELPKEZWVIMAEZ S T 5. XROMICEZ K.

(SH17 458, A3, BW55, CH75)

(1) 3ZKS DIFfEZERD &X.
(2) kS DXMEFEERD K.

fiEEX 1 fERnX 2

Fmmmmm e ----JH

(1)
YKLz S TEZ/NIVE2AT 04 DL TAR.
RN 1 O & 512, SR S BN R SN EWEHTVE 4 DED BV B O.

VKRS = 31K ABCD-EFGH -— =ATVn4 o
- Axdx4 ~ oxoxLtxaxleg = 531 cms
2 3 3

(2)
YIWTTH D HIFEE, KOEFREH > TV B LEHND 5.
*x1:1:20EA=ZATLVORRRIIESTH .

CORMETIE, EA=ZATWVWG-CRQ D, 3 0DEA%2 I DHMACO2LDHDEXD 2cm , 2cm , 4cm TH 5.
2:2:4=1:1:2TdhbH, ZOZATVOREKXIZ, MHK 2 DX 5 IZEHFICRS.

Yl GQP ot = EAE - B =AM 3o
— 4x4 — (2><2><%+2><4><%><2) = 6cm?
SRS oK = KIEAWEFGH + /NMEAEPQRS + flHOZF A=A 4> + YIKHE x4
- 4x4 + 4><4><% + 4><4><%><4 +  6x4
16 + 8 + 32 + 24
= 80 cm?
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